

$$D: \mathbb{P} \rightarrow \mathbb{P} \quad : \frac{d}{dx} := D. \quad D P_n = \frac{d}{dx} P_n$$

$$\forall \alpha, \beta \in \mathbb{R} \quad D(\alpha P_n + \beta Q_n) = \alpha D P_n + \beta D Q_n \in \mathbb{P}$$

$$T: \mathbb{R}^n \rightarrow \mathbb{R}^m \quad y = Ax \quad x \in \mathbb{R}^n \quad y \in \mathbb{R}^m \quad A = \mathbb{R}^{m \times n}$$

$$\begin{pmatrix} a_{11} & a_{12} & \dots & a_{1n} \\ \vdots & \vdots & & \vdots \\ a_{m1} & a_{m2} & \dots & a_{mn} \end{pmatrix} \begin{pmatrix} x_1 \\ \vdots \\ x_n \end{pmatrix} = \begin{pmatrix} y_1 \\ \vdots \\ y_m \end{pmatrix}$$

$$A(x+y) = Ax + Ay \quad A(\lambda x) = \lambda(Ax)$$

$$\bullet \quad \|T\| = \sup_{x \neq 0} \frac{\|Tx\|}{\|x\|} \Rightarrow \|I\| = \sup_{x \neq 0} \frac{\|Ix\|}{\|x\|} = \sup_{\lambda \neq 0} \frac{\|\lambda x\|}{\|\lambda x\|} = 1$$

$$\|0\| = \sup_{x \neq 0} \frac{\|0x\|}{\|x\|} = \sup_{x \neq 0} \frac{\|0\|}{\|x\|} = 0$$

Teorema: $\dim(X) = n \quad \forall T$ linear es tal que $\|T\| < +\infty$

$\forall x \in X \quad \exists c > 0, \|Tx\| \leq c \|x\|$. Como X es dim finita $\exists e_1, \dots, e_n$

$$x = \alpha_1 e_1 + \dots + \alpha_n e_n \quad \|Tx\| = \|T \sum_k \alpha_k e_k\| = \left\| \sum_k \alpha_k T e_k \right\|$$

$$\leq \sum_k |\alpha_k| \|T e_k\| \leq M \cdot \sum_k |\alpha_k| \quad M = \max_k \|T e_k\|$$

$$\|x\| = \left\| \sum \alpha_k e_k \right\| \geq \chi \left(\sum |\alpha_k| \right) \quad \exists \chi > 0$$

$$\sum |\alpha_k| \leq \frac{\|x\|}{\chi}$$

$$\|Tx\| \leq \frac{M}{\chi} \|x\| = C \|x\|$$

$$\exists C \geq 0 \quad \forall x \in X \quad \|Tx\| \leq C \|x\|$$

$$* (x_n)_n \in \bar{X} \quad x_n \xrightarrow{w} x \in \bar{X} \quad \lim_{n \rightarrow \infty} Tx_n = T \bigcup_n x_n = Tx$$

$$\forall \epsilon > 0 \quad \exists \delta > 0 \quad \forall x \in \bar{X} \quad \|x - x_0\| < \delta \Rightarrow \|Tx - Tx_0\| < \epsilon$$

+ operador acotado. $\Rightarrow T$ es cont en $A \subset \bar{X}$.

$$T: A \subset \bar{X} \rightarrow Y$$

$$\forall x_0 \in A \quad \|Tx - Tx_0\| = \|T(x - x_0)\| \leq \|T\| \|x - x_0\| \leq \|T\| \delta = \epsilon$$

$$\forall \epsilon > 0 \quad \exists \delta > \epsilon / \|T\| \quad \|T\| \neq 0 \quad \|T\| = 0 \Rightarrow T = 0$$

$$\Rightarrow \text{cont. en } x_0 \quad \forall \epsilon > 0 \quad \exists \delta > 0 \quad \|x - x_0\| < \delta \Rightarrow \|Tx - Tx_0\| < \epsilon$$

$$\forall y \neq 0 \quad x = x_0 + \frac{\delta}{2\|y\|} y \quad \|x - x_0\| = \left\| \frac{\delta y}{2\|y\|} \right\| = \frac{\delta}{2} < \delta$$

$$T. \text{ cont en } x_0 \Rightarrow \forall \epsilon > 0 \quad \exists \delta > 0 \quad \|Tx - Tx_0\| < \epsilon$$

$$\epsilon > \|T(x-x_0)\| = \left\| T\left(\frac{\delta}{2\|y\|} y\right) \right\| = \frac{\delta}{2\|y\|} \|Ty\| < \epsilon \quad \forall y \neq 0 \Rightarrow$$

$$\|Ty\| < \frac{2\epsilon}{\delta} \|y\| \quad \forall y \neq 0 \Rightarrow T \text{ es acotado}$$

$$f(x+h) - f(x) - Df(x)(h) = o(\|h\|) \quad o(\|h\|) = \lim_{h \rightarrow 0} \frac{o(\|h\|)}{\|h\|} = 0$$

$$\begin{pmatrix} f_1(x+h) \\ \vdots \\ f_m(x+h) \end{pmatrix} - \begin{pmatrix} f_1(x) \\ \vdots \\ f_m(x) \end{pmatrix} - \begin{pmatrix} A \\ \mathbb{R}^{m \times n} \end{pmatrix} \begin{pmatrix} h_1 \\ \vdots \\ h_n \\ \mathbb{R}^n \end{pmatrix} = \frac{o(\|h\|)}{\|h\|} = \begin{pmatrix} o_1(\|h\|) \\ \vdots \\ o_m(\|h\|) \end{pmatrix}$$

$$f_k(x+h) - f_k(x) - (k\text{-fila de } A) \begin{pmatrix} h_1 \\ \vdots \\ h_n \end{pmatrix} = o(\|h\|) \quad k = 1, \dots, m = \frac{o_k(\|h\|)}{\|h\|} \rightarrow 0$$

$$\|f(x+h) - f(x)\| = \|Df(x)(h) + o(\|h\|)\| \leq$$

$$\|Df(x)\| \|h\| + o(\|h\|) \xrightarrow{h \rightarrow 0} 0$$

$$\lim_{h \rightarrow 0} \|f(x+h) - f(x)\| = 0 \Leftrightarrow \lim_{h \rightarrow 0} f(x+h) = f(x)$$

• f est différentiable en x_0

$$Df(x_0) = \lim_{\lambda \rightarrow 0} \frac{f(x_0 + \lambda u) - f(x_0)}{\lambda} = \lim_{\lambda \rightarrow 0} \frac{Df(x_0)(\lambda u) + o(\|\lambda u\|)}{\lambda}$$

$$= \lim_{\lambda \rightarrow 0} \frac{\lambda Df(x_0)(u) + o(\lambda)}{\lambda} = \left| \frac{o(\lambda)}{\lambda} \right| \xrightarrow{\lambda \rightarrow 0} 0$$

$$D_{e_i} f(x_0) = Df(x_0)(e_i) = A \begin{pmatrix} 0 \\ \vdots \\ 1 \\ \vdots \\ 0 \end{pmatrix} \text{ i-ème } = \text{i-ème colonne de } A$$

$i = 1, 2, \dots, n$

$$f(x,y) = \begin{cases} \frac{y^3}{x^4+y^2} & (x,y) \neq (0,0) \\ 0 & (x,y) = 0 \end{cases}$$

cont. at $(0,0)$

$$\|u\|^2 = u_x^2 + u_y^2 = 1$$

$$\frac{f(0+\lambda u_x, 0+\lambda u_y) - f(0,0)}{\lambda} = \frac{\lambda^3 u_x^3 \cdot \lambda u_y}{\lambda^4 u_x^4 + \lambda^2 u_y^2} = \frac{\lambda^4 u_x^3 u_y}{\lambda^2 (u_x^4 + u_y^2)} = \frac{\lambda^2 u_x^3 u_y}{u_x^4 + u_y^2}$$

$\lambda \rightarrow 0$ $0 \cdot \frac{u_x^3 u_y}{u_y^2}$ $u_y \neq 0$ $u_y = 0$

$$D_u f(0,0) = 0$$

$$\frac{\partial f(0,0)}{\partial x} = \lim_{x \rightarrow 0} \frac{f(x,0) - f(0,0)}{x} = 0$$

$$\frac{\partial f(0,0)}{\partial y} = \lim_{y \rightarrow 0} \frac{f(0,y) - f(0,0)}{y} = 0$$

$$Df(0,0) = (0 \ 0) = \left(\frac{\partial f(0,0)}{\partial x}, \frac{\partial f(0,0)}{\partial y} \right)$$

$$\frac{f(x,y) - f(0,0) - Df(0,0)\begin{pmatrix} x \\ y \end{pmatrix}}{\sqrt{x^2+y^2}} \xrightarrow{(x,y) \rightarrow 0} 0$$

$$\frac{x^3y}{(x^4+y^2)\sqrt{x^2+y^2}} = \frac{x}{\sqrt{x^2+y^2}} \frac{x^2y}{x^4+y^2} \quad y = ux$$

$$\frac{x}{\sqrt{x^2+u^2x^2}} \frac{x^2ux}{x^4+u^2x^2} = \frac{u}{\sqrt{1+u^2}} \frac{x^2}{x^2+u^2} \xrightarrow{} 0$$

$$y = x^2 \quad \frac{x^5}{(x^4+x^4)\sqrt{x^2+x^2}} = \frac{x}{2\sqrt{2x^2}} = \frac{1}{2\sqrt{2}} \frac{x}{x} \neq 0$$